sBulysng 9ai4-j10

462

Oil-Free Bushing Pillow Blocks

Tall Block / Tall Block Gompact / Wide Block

Oil-Free Bushings (Polyacetal Resin & PTFE Resin)

Straight / Shouldered (Polyacetal Resin)

0Oil-Free Bushings - Straight /

JZB straight

JZF shoulder

0il-Free Bushings Pillow Blocks — MDBA single with Seal MDBAW pouble with Seal .
Tall Block w L L %)
W/2+0.02 L1+0.2 12:0.2
e 2-M 2 =~
2-M 1 t L2+0.2 L10.2
= =
[ A |1
§ = i /?%E¢ *#K% @j} : 0l Free Bushing 0il Free Bushing
| o2 - A Ll mozs — = MDzB
< O e -
Housi S Seal Housin / \ Seal
Bushing : MDZB (P.460) Housing ~Housing S
[RoHS 10| Seals  :NBR Nitrile Rubber (0-Ring) ) ) ) A
Material: Aluminum Alloy (Housing) Surface Treatment: Clear Anodize
Part Number Single Double
h w H D ) M| M2 dixt
Type d Tolerance L L1 L2 S L L1 L2 S
6 +0.065 14 | 16 | 22 | 81 27 18 9 21 === = M4
8 0 6 | 20 | 2 [ 101 ] 3 | 20 | 10 [ 26 | — | — | — | — | ° [Tms | ™ |6x5ForM3Screns)
10 19 | 26 | 32 [ 122 | 39 31 54
MDBA 12 +g.068 20 28 24 143 40 27 15 3 62 36 50 54 6 V6 M5 8 x 6 (For M4 Screws)
MDBAW 16 27 | 36 | 49 | 183 | 47 | 32 g L3 | 78 | 52 | 65 | 68 7 M6 | 9x7 (For M5 Screws)
20 +0.081 31 42 54 | 234 | 52 | 36 42 | 85 | 58 | 70 | 75 8 M8 | M8 [ 11x8 (For M6 Screws)
25 0 37 | 52 | 65 | 284 | 69 | 42 50 | 120 | 80 | 100 | 110
30 0085 a0 | s | 7 |44 | T | m 2 6 [ 128 | 90 | 110 | 116 | @ | M1O | M10 1470 (For M8 Screws)
. . ; L
0Oil-Free Bushings Pillow Blocks — MDBAC w
6.3/( 25
Tall Block Compact oz (W/2x002 t /( J )
== e ’]
.j v = L ]S 0il Free Bushing
v | & MDZB
W]
|
/s
m P Bushing : MDZB (P.460) Housing Seal
Seals  :NBR Nitrile Rubber (0-Ring) Material: Aluminum Alloy (Housing) Surface Treatment: Clear Anodize
Part Number
h w H D L L 12 s [} M1 M2 dixt
Type d Tolerance
10 17 20 26 12.2 39 25 13 31 5
12 *g'OGB 18 22 28 14.3 40 26 14 32 5 e B | SoOGaribeEs
16 21 28 35 18.3 47 28 15 37 55 B | orrEsiseE
MDBAC 20 +0.081 2 34 40 234 52 34 21 42 55
25 0 30 42 50 28.4 69 42 25 59 8 .
M8 M8 | 11x8 (For M6
30 N o 33 48 57 34.4 74 54 37 62 8 x 8 (For M Scretws)
Oil-Free Bushings Pillow Blocks — MDWBA w 4-M 6.3/(25
Wide Block Wo, Wiz o 2R L N
A ‘ 11202
= - \ | | ! !
F — < INRU " : : :
=] - [ LT 1 i 1
] {1 {1 WL
= [RA [N [N [BE
¢ SR e
25,
| i ‘ i i I i i Bushing : MDZB (P.460)
L\\,, - e ! ‘ ! ‘ } ‘ } / Seal Seals  :NBR Nitrile Rubber (0-Ring)
S - f H 0il Free Bushing Material: Aluminum Alloy (Housing)
[Roti 10| | W/201 | \ 4-d MDZB \M Surface Treatment: Clear Anodize
Part Number
h w H D L L s wi w2 1] d ) A
Type d Tolerance
6 +0.065 9 34 20 8.1 27 15 21 20 7 M4 3.4 8 10
8 0 11 34 20 10.1 32 18 26 24 5 M4 3.4 8 10
10 T 13 44 30 122 39 21 31 28 8 M5 43 12 20
12 9 15 44 30 14.3 40 26 32 305 6.75 M5 43 12 20
MDWBA 16 19 54 42 18.3 47 34 37 36 9 M5 43 12 26
20 +0.081 21 54 42 234 52 40 42 40 7 M6 5.2 12 26
25 0 26 78 60 28.4 67 50 59 54 12 M8 7 18 38
30 N g 30 78 60 344 74 58 62 58 10 M8 7 18 38
_~ Cylinder
Part Number | Part Number Application “.,4 —
A Example MDBA10 4 Example
MDBAC12 <
MDWBA16

¥ MiSUMi

There’s more on the web: misumiusa.com

Shouldered (Polyacetal Resin) a
a o Tt
o
= = g —
r \ b b 5 ol
41 <a - /o § f——%£[=
\ J 5 63 = £
)
L%
T L%
. 0 Material: Polyacetal Resin
When L<10, tolerance g 5 Lubricant and Special Filler Added
When L=12, tolerance g 5 Allowable Temperature: -40-80°C O press fitting is recommended to affix bushings.
Part Number Chamfer “1 Housing Dia. *Shaft Diameter
L D F T
d Ref. Ref.
Type (Tol. After Press-Fitted) a | bjc| py |Tol07))| pigy | Tol.(H7)
+0.080 0
3 000 |3 465 5 | +0107 | 8 5 40012 | 3 | o010
4 3 456 6 | 00821 o - 6 g 4
+0.095 N 0
3 w05 |3 45 678 T orsr c0.3 T 1 oot —— 0012
6 3 *4 5 6 810 8 +0'045 12 8 0' 6
8 5 6 81012 15 10 15 1 0 10 8 0
10 6 81012 15 20 12 18 i 12 10 | -0.015
12 +0.120 8 1012 15 20 14 | 10193 | 20 14 +0018 | 12
Straight 15 +0.060 10 12 15 20 25 17 | +0.058 | 23 03| 17 | O 15| g
JZB —
16 10 12 15 20 25 18 24 18 16 | -0.018
s“j;':e' 18 12 15 20 25 30 20 | 40001 | 26 1 20 18
20 40,145 (12) 15 20 25 30 23 | +0.071 | 31 RO.4 23 | 40021 | 20
22 +0.075 20 30 25 | 40231 | 33|15 25 0 2 | 9
25 40470 20 25 30 28 | +0.081 | 36 28 25 | -0.021
30 +0.090 20 25 30 40 34 | 40000 | 42 0 34 30
35 0215 25 30 40 | 39 | +0095| 49 | , |01 B |00 5
40 +0.115 30 40 50 | 44 [ 0342 | 54 RO6 4 a0 | 0
0235 o 3 s 0030 002
+0. . A
50 40135 30 40 50 | 55 +0.130 65 | 25 RO.8 55 0 50
O *When selecting 3-3, 3-4, 4-3, 4-4, 4-6, 5-3, 5-4, 6-4 and 6-5 of Straight Type, a=0.5.
O d tolerance is the value after press-fitted into ring gauge of d+0.002.
*! Housing diameters and shaft diameters listed here are recommended dimensions.
O *marked L dimension is available for JZB only O L dimension in () is available for JZF only.
Part Number Available Types Part Number Available Types
Type | d (L3 | L4 | L5 | L6 | L8 |L10|L12|L15 | L20 |L25 |L30 |L40|L50 Type | d (L3 | L4 | L5 | L6 | L8 |L10|L12|L15 | L20|L25 |L30 |L40|L50
3| e o | — | — | — | — | = — 3| e o o | — | — | — | — | = _
4| » o o | — | — | — | —| =] = === 4] e o o o | — | — | = | = =] =|=]=| =
5 e o o o | — | — | = | = =] =| =] = 5| e o o o | — | — | = | = =] =|=]=| =
6 | — o o o o | — | — | — | —| —| —| = 6| o | — | o o o o | — | — | —| = =] ==
gl — | — | o o o o o o | — | — | — | — | — 8| — | — | o o o o o o | — | — | — | — | =
10— —| —| « o o o o o« | — | — | — | — 10| —| — | — | « o o o o o | — | — | — | —
12— —| =] —| o o o o o« | — | — | — | — 12| — | — | — | — | o o o o o | — | — | — | —
15— —| — | —| — | e o o o o | — | — | — 5] —| —| — | —| — | e o o o o« | — | — | —
JB 16| — | — | — | — | — | » o o o o | — | — | — JZF (16| — | — | — | — | — | o o o o o« | — | — | —
18| — | — | — | — | — | — | o o o o o | — | — 18| — | — | — | — | — | — | o o o o | — | —
20| — | —| —| — | —| — | —] e o o o | — | — 20— —|—| —| —=| —| » o o o o | — | —
2| — | — | — | — | — | — | —| — | e o o | — | — 2| — | — | — | — | —| = | =] =] ¢ | —| & | —| —
Bl — | — | — | — | — | — | —| — | e o o | — | — %l — | —| — | —| — | —| —| — | » o o | — | —
0| —| — | — | —| = | —| —| =] e o o o | — |- —| —| —| = | —| —| —| » o o o | —
Bl — | — | — | — | — | —| = | = | —| » o o | — Bl — | — | — | —| —| —| = | —| — | e o o | —
Wl — | — | — | =] =] = =] = =] =1 e o . l—|—|—| = =] =] =] =] =] =1 e o o
50| —| — | —| — | —=| = =] = | =] =1 o . . 50— | —| —| —| —=| = | =] =] =] =] e o o

/|

Example

JZB10

12

Check out misumiusa.com for the most current pricing and lead time.

0Oil-Free Bushings

463



